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EXERCISE 11.8: For the real odd function x(¢) = e u(—t) — e % u(t), show that the Fourier transform is

. 2jw
X(jw) =
which is an imaginary odd function of w.
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(SOLUTION)
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X#)= e“tu(—t) —e )

Use linearity to do the transforms of each part -5efami-d3.
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Note: «(+) is odd becguse x(-t)= —x(t).
T addihon Xo(jw) s odd:
Xlgw)= B B2 X ()

o4 (-)* O*+ w™

McClellan, Schafer, and Y oder, Sgnal Processing First, ISBN 0-13-065562-7.
Prentice Hall, Upper Saddle River, NJ 07458. © 2003 Pearson Education, Inc.



